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Test:English
Choose the Correct Answer.(2)
L . ; ;
Growth of population is causing Serious .....................
a)issues b)problems c)set back d)questions

The alarming and incessant growth of population is causing economic problem.

a)continuous b)dangerous c)assets d)scarcity

Choose the Correct Answer.(5)

:
He couldn't go home............. he had no place to go.
a)but b)for c)though d)then
2
He acted as ifhe owned a car. The underlined word means:
a)worked bJadvised c)showed d) prefer
3
.................. is was hot, he was wearing a coat.
a)Although b)When c)then d)since
4
........... I have no money, I can not go for shoppings
a)since b)before c)as d)so
5
He lost his job he was often late.
a)while b)because c)or d)due to
Choose the Correct Spelling.(5)
1
a)fartile Biittile o)fertile dfurtile
2
a)energy blinergy c)enargy d)enirgy
3 ; : ; ;
a)aquifers b)qugifers cJaiqufers d)aquiferrs
a)Critikal b)critecal c)kritical d)Critical
5
a)fascination b)facinating c)fasinating d)fascenating
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